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Group Marks : 400
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Part A

Section Id : 68634057

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 21

Number of Questions to be attempted : 21

Section Marks : 100

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 68634085

Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863402829 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863402830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 6863402831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863402832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863402833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863402834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634011217. 1
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Question Id : 6863402829 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863402830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 6863402831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863402832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863402833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863402834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 68634086
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863402835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 6863402835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863402836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863402836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863402837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863402837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 6863402838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 6863402838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863402839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863402839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863402840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863402840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863402841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863402841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863402842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863402842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863402843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863402843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863402844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863402844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863402845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863402845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863402846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863402846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863402847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863402847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 9% 31d S

0.3,8.15,24, 7

[ ]
[#5]
(]

4. 35

Options :

68634011269. 1
68634011270. 2
68634011271.3
68634011272. 4

Question Number : 19 Question Id : 6863402848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IS B Tpdl 99 a9 IR (G20 & 9 §. O1d 98 9 Wl Ugddi ¢ | T8 99 I3 & R Y@ 51 &
918 &1 §R 310 g5d1 & 3R 5T% 918 0 Tga & Ugd a1 g8dl 8| 99 o1d 3301 & IR & 19 Tt &9
U Y a1 g5 Ul dl 98 fod fa=m o |mH o

1.
ufm

3. 9T
4. afgor

Options :

68634011273. 1
68634011274. 2
68634011275.3
68634011276. 4

| ]

Question Number : 19 Question Id : 6863402848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WS B Tpdl 99 9 IR (G201 & 9 §. 9d 98 T Tl Ugdl ¢ | T8 99 I3 & R Y@ 4 &
915 &1 9R &1 3d1 § 3R 38 918 W d Uga- 4 Ugd a1 Jodi ¢ | 99 91d IRl & B & HE- da1d &9
Y Y X0 g5 21 dl a8 fod fdzn & g db

1.
Rt

3.9
4. GI&

Options :

68634011273. 1
68634011274. 2
68634011275. 3
68634011276. 4

| ]

Question Number : 20 Question Id : 6863402849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al 9 HEdl o- "3H=d DI J1dl BRI 01T B USHE T g1 T BT e I 1 Hay 82
1. foar

TS

Hexd Jfdd

| ]

5]

4 T
Options :
68634011277. 1
68634011278. 2

68634011279. 3
68634011280. 4

Question Number : 20 Question Id : 6863402849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

44 T H5dl o- "SHE B AT AL AT B UPHE P! 51" ¢l I BT SHd 3 o1 Ha¢ 57
1. foar

T

3. Hed d 3fdd

| ]

4
Options :
68634011277. 1
68634011278. 2

68634011279. 3
68634011280. 4

Question Number : 21 Question Id : 6863402850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IgTe 71 ATET & SR R g5 79 gl
ZUEd HEHIAGHT
fhryrga srgaf¥gee
ferE s HifgiREe
4. THYISd WSS

Options :

[y

| )

L



68634011281. 1
68634011282. 2
68634011283.3
68634011284. 4

Question Number : 21 Question Id : 6863402850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2UTe TG FAEr & GRE RErd g 19 gl
1. SUTSd AT
fhurga srsafEre
e s EiREe
oy Wieags

Options :

68634011281. 1
68634011282. 2
68634011283. 3
68634011284. 4

| )

L

=Y

Question Number : 22 Question Id : 6863402851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 11 g 11 ¥ e Sifey

g 1 (Jg & witaq & 9RO G 11 (T 1)
A [Hrd I [&™

B. [Jaly - 1 |31y

C. [HyHIuG 111 [dh

D. [5d IV. [aifer gaf

FafciRad [doegi § 9 gl 3O &1 99 DIl -

1. A-II. B-IV. C-III. D-I

L

CA-IV, B-IL C-III, D-1
3. A-II. B-IV. C-I1. D-III
4. A-1. B-11, C-III, D-IV

Options :

68634011285. 1
68634011286. 2
68634011287. 3
68634011288. 4



Question Number : 22 Question Id : 6863402851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 gt 11 ¥ e Sifere

g 1 (FF & Sita & TR0 T 11 (T T)

A @™ I [

B. [mElY (@H-UI) IL |31y

C. [UUHMTGH 1L [de

D. [ IV. [aI1T% g&
Fafeiad faeel & 9 981 SR &1 98- ify .

1. A-II. B-IV. C-III. D-I

| o]

. A-TV, B-IL, C-III. D-1
3. AL B-IV. C-1. D-III
4. A-1. B-11. C-II1. D-IV

Options :

68634011285. 1

68634011286. 2

68634011287. 3
68634011288. 4

Question Number : 23 Question Id : 6863402852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad o 9 oF YR i TarbeeE (3. 301.0) S gy ufea s 9+ 82
1. 419 BHDHR
TR B
eI AR |
. B HAYd

| o]

LS ]

e

Options :

68634011289. 1
68634011290. 2
68634011291. 3
68634011292. 4

Question Number : 23 Question Id : 6863402852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafaed 3 9 S YR e TRk (3. 3.0) ©f yus Tiear sfee 9 o7

1. S FHF
2. IR &I
3. 41 <1 3ur
4. U TRt

Options :

68634011289. 1

68634011290. 2

68634011291. 3
68634011292. 4

Question Number : 24 Question Id : 6863402853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEAG I AL

HYA 1. BRA il U aTeis ©. o1 1968 3 SR g5 SNYUGH® giG 1 auH B o g JHaE:
e fohdT Sl B

DY 11: WIS G51g VRl 7 Bl hifd' 3Rey &l i

SWRIT PYF & 3fTelid H, A1 fAU 7T fdw el 7 9 ¥et Gov &1 994 Bifoig:
1. FY1 AR I T &

HY 1 3R 11 AT SR §

| ]

3. PYTI g 8, AP HYT I HTT &

4. YT ITI B, Ao YT I TT &

Options :

68634011293. 1
68634011294. 2
68634011295. 3
68634011296. 4

Question Number : 24 Question Id : 6863402853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R puRuE

HYA 1. BRA Pifd U aradis . [oRI®] 1968 & SR g3 SNYUG-® gig B quiH B & (1T JE:
e {ohdT Sl §

DY I1: TS 6152 VRl -1 B hifd SRE i i

SURIGd PYF & el H, i fu e faw el # 9 96l 3R &1 994 Sifey:
1. Y1 AR S 9 §

HYA 1 IR 11 ST ST &

3. PYT I 9 e, AP Py 11 T &

-

4. BYTI 3T 8, A PTPYT I I §

Options :

68634011293. 1
68634011294. 2
68634011295. 3
68634011296. 4

Question Number : 25 Question Id : 6863402854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofel e D1 4 A g1 361 81 dl FEfeihd & A 11 3w APuld of S uefud & & Wi
T Bl 62

HTE-511T

2. HTE-151

 HT5E-123
4, HT94-356

Options :

68634011297. 1

68634011298. 2

68634011299. 3
68634011300. 4

—

L]

Question Number : 25 Question Id : 6863402854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HHS 1 T 71 81 61 61 dl FAiRad | A S swoe APUid DI AT FBANIG B B Wl
e Rl 87

 HT®G-511T

2. 3T=98-151

. 3I8-123

4. HTH93-356

Options :

68634011297. 1
68634011298. 2
68634011299. 3
68634011300. 4

—

5]

Part B: Painting

Section Id : 68634058
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 68634087
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863402855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Harmony can be defined as-

1. Complimentary among all the elements

| ]

. Simularity among elements

L 5]

. Repetition

ahan

. Dissimilarity

Options :

68634011301. 1
68634011302. 2
68634011303. 3



68634011304. 4

Question Number : 26 Question Id : 6863402855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TaeH @1 o TR uiRIivd g1 o1 91 § |

1. gt dcdl & ai= JEred

. dedl & o= JH
4. &EHQFQI%

Options :

68634011301. 1

68634011302. 2

68634011303. 3
68634011304. 4

| ]

Lad

Question Number : 27 Question Id : 6863402856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Illusionistic painting that looks hyper real.

1. Impasto
2. Encaustic
3. Trompe l'oil
4. Alla prima pamting

Options :

68634011305. 1

68634011306. 2

68634011307. 3
68634011308. 4

Question Number : 27 Question Id : 6863402856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



yrare! sifa gurd Em g |
1. SHRET
2. TSI E
3. T A
4, T WIS HT R
Options :
68634011305. 1
68634011306. 2

68634011307. 3
68634011308. 4

Question Number : 28 Question Id : 6863402857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who painted "Omar Khayyam"-

1. Nandalal Bose

[ ]

. Abanindranath Tagore

3. Amrita Shergil
4, Asit Kumar Haldar

Options :

68634011309. 1
68634011310. 2
68634011311. 3
68634011312. 4

Question Number : 28 Question Id : 6863402857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3H @@y &g o o -

1. o 9y

2. A=Y TR
3. gl e
4, YT PUR BleaER

Options :



68634011309. 1
68634011310. 2
68634011311. 3
68634011312. 4

Question Number : 29 Question Id : 6863402858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Ajanta murals were done in tempera style.

Reason R: A plaster consisting of stone powder, cow dung and rice straw was used to cover the rough surface
already prepared.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2

. Both A and R are correct but R 18 NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634011313. 1
68634011314. 2
68634011315.3
68634011316. 4

Question Number : 29 Question Id : 6863402858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o s v E: AUt I R FROT & |
FYUT A - =T TFENT ATYA & a4 |

ﬁ%mﬁ?ﬁ T F TATECY HITeCd UEaX 9Ol A @ Ma HR amae @ o & 3udeT aea
ST FU & UG # A R e Rived # ¥ g s 3R 99 |
1.aT A AR RO € 3R R, A & afy carean ©
BT A 3R R @& € 3R R, A &1 &8 caren 60 ©
A @f Afa R reid ¥

4. A 7o wifeeT R 99T ©

2

5]

Options :

68634011313. 1
68634011314. 2
68634011315. 3
68634011316. 4



Question Number : 30 Question Id : 6863402859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 entury Mexican artist known for his mural paintings in buon fresco technique-

1. Frida Khalo

| )

. Jose' Orozco

3. Diego Rivera

4. David Siqueiros
Options :
68634011317. 1
68634011318. 2

68634011319. 3
68634011320. 4

Question Number : 30 Question Id : 6863402859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2041 91 § A SR S0+ TR Uit =] 1] dd-ii o =410 d o il © |

1. e Freal
2. Wi SRS

3, feum e
4. 3fas fyaavg

Options :

68634011317. 1
68634011318. 2
68634011319. 3
68634011320. 4

Question Number : 31 Question Id : 6863402860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The painting technique which uses small dabs of colours to build the painted surface-

1. S'graffito

[ ]

. Alla Prima
3. Impasto
4, Pointillism

Options :

68634011321. 1
68634011322. 2
68634011323. 3
68634011324. 4

Question Number : 31 Question Id : 6863402860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feeror Tere Frator 8 1 31 el STc T R fodu - Bl aaH@ ¢ |

1. qaiﬁiﬂ%a

STl UTGHT
4. éﬁa Q

Options :

68634011321. 1

68634011322.2

68634011323.3
68634011324. 4

| o]

Lad

Question Number : 32 Question Id : 6863402861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The complementary colour of Green in colour wheel 1s-

1. Yellow

[

.Red
3. Brown

4. Blue

Options :
68634011325. 1



68634011326. 2
68634011327.3
68634011328. 4

Question Number : 32 Question Id : 6863402861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T B DI Rep 5 |
1. Gid

| ]

NI

L
4, Il

Options :

68634011325. 1
68634011326. 2
68634011327.3
68634011328. 4

L]

Question Number : 33 Question Id : 6863402862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The final plastering coat in wall preparation buon fresco technique 1s called-

1. intonaco
2. intaglio
3. secco
4. arricio

Options :

68634011329. 1

68634011330. 2

68634011331.3
68634011332. 4

Question Number : 33 Question Id : 6863402862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 3 SR §11 -1 4 g Bl (JOR B & (o180 WReX HIe T A g |
1. ST

TGP

4. ARl

| ]

5]

Options :

68634011329. 1
68634011330. 2
68634011331. 3
68634011332. 4

Question Number : 34 Question Id : 6863402863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

These paints have a plastic binder medium and are soluble in water-

1. soft pastels

[

. gouache
3. acrylic paints
4. water colour

Options :

68634011333. 1
68634011334. 2
68634011335. 3
68634011336. 4

Question Number : 34 Question Id : 6863402863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= e H Wi s age) A1 8id1 § 3R U H qa-=id gial g |
1. 9% URed

| ]

R

. Uhidd HeR

4. dlcY DT

Lad

Options :
68634011333. 1



68634011334. 2
68634011335.3
68634011336. 4

Question Number : 35 Question Id : 6863402864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
'To create a work 1s to create a world' is a famous quotation by
1. Kandmsky
2. Picasso
3. Rembrandt
4. Jamini Roy
Options :
68634011337. 1
68634011338. 2

68634011339. 3
68634011340. 4

Question Number : 35 Question Id : 6863402864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt BT BT T ST of TR Bl =1 & UG 8|

1. B!
2. e
3. ¥l
4. SR

Options :

68634011337.1

68634011338.2

68634011339. 3
68634011340. 4

Question Number : 36 Question Id : 6863402865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



William Blake was-

1. Sculptor

[

. Printmaker

3. Film malcer

4, Performance Artist
Options :
68634011341. 1
68634011342.2

68634011343. 3
68634011344. 4

Question Number : 36 Question Id : 6863402865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faferas s o
1.4 ﬁasﬁ

JTIHR
3. Tt Fafar

4. ICH P

| o]

Options :

68634011341. 1
68634011342. 2
68634011343. 3
68634011344. 4

Question Number : 37 Question Id : 6863402866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Tyeb Mehta's triptych painting 'Celebration’ is in which medium-
1. Woodcut
2. Acrylic on canvas

3. Oil pastels

4, Water colours

Options :
68634011345. 1



68634011346. 2
68634011347.3
68634011348. 4

Question Number : 37 Question Id : 6863402866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oud Dear & Bt ofén Afesg i areom 5 § -

g8 &
. Tehicie 3 HaH

HOd Ued

=

| ]

L]

4. dlcd did

Options :

68634011345. 1
68634011346. 2
68634011347.3
68634011348. 4

Question Number : 38 Question Id : 6863402867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Byzantine site of Ravenna is known for its

1. Stain glass
2. Mosaic
3. Water colours
4. oil colour

Options :

68634011349. 1

68634011350. 2

68634011351.3
68634011352. 4

Question Number : 38 Question Id : 6863402867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3G9 Bt FIgoifc Tge & g &1 oirar §

1. 3¢ T
l.ﬁ EIEET
3.4dlc¥ Dl
4. G Pl
Options :
68634011349. 1
68634011350. 2

68634011351. 3
68634011352. 4

Question Number : 39 Question Id : 6863402868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The technique of printmaking that utilizes Acid in the process of making a plate 1s called-

1. Etching

[

. Engraving
3. Drypoint
4. Mezzotint
Options :
68634011353. 1
68634011354. 2

68634011355.3
68634011356. 4

Question Number : 39 Question Id : 6863402868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fiie Afdh qep-iie T TS &1 ST @i 31 IR 33 | [Bar S @ |
1. gfdm
 fdT
g% @re
4. Olic=

Options :
68634011353. 1

| o]

L S]



68634011354. 2
68634011355.3
68634011356. 4

Question Number : 40 Question Id : 6863402869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Do Poiga Zamin is an artwork by-
1. Chittaprosad
2. MLF. Husain
3.EN. Souza

4. AN. Tagore

Options :

68634011357. 1
68634011358. 2
68634011359. 3
68634011360. 4

Question Number : 40 Question Id : 6863402869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
<l faar s fege] sarela g |
1. =it v
.U, U, g4
LT, T, ol
U IR

Options :

68634011357. 1
68634011358. 2
68634011359. 3
68634011360. 4

| ]
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Fes

Question Number : 41 Question Id : 6863402870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One major site of cave paintings in India is-

1. Elephanta Caves

[

.Ellora

L]

. Ajanta
4. Bagh Caves

Options :

68634011361. 1
68634011362. 2
68634011363. 3
68634011364. 4

Question Number : 41 Question Id : 6863402870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd H 1707 R &1 U YHE &4 © |
1. Tferth=21 1
2. TART

3. 3{vld

4. T[]

Options :

68634011361. 1
68634011362. 2
68634011363. 3
68634011364. 4

Question Number : 42 Question Id : 6863402871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Michelangelo's 'The Last judgement’ at Sistine chapel is a

1. Tempera

| ]

. 01l on canvas
3. Fresco
4, Mosaic

Options :
68634011365. 1



68634011366. 2
68634011367. 3
68634011368. 4

Question Number : 42 Question Id : 6863402871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higdd Uioidl 1 'S aRe oiolie U e dua § 6 -

1. COR]

T 3 pary

el

4. HIGlg

Options :

68634011365. 1
68634011366. 2
68634011367. 3
68634011368. 4

| ]
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Question Number : 43 Question Id : 6863402872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A composition is made with how many basic constitutes?

1.3

b
S

3.4
4.7

Options :

68634011369. 1
68634011370. 2
68634011371. 3
68634011372. 4

Question Number : 43 Question Id : 6863402872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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—

| ]
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4 (dR)
4. 7 (HId)
Options :
68634011369. 1
68634011370. 2

68634011371. 3
68634011372. 4

Question Number : 44 Question Id : 6863402873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Limoleum sheets has been used for-
1. Drawing
2. Etching
3. Relief Print making
4. Photo Development
Options :
68634011373. 1
68634011374. 2

68634011375.3
68634011376. 4

Question Number : 44 Question Id : 6863402873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferif-am S ST M g § -
L g
2.5t
3. SUR 98 GE0l
4. ®icl f[a™

Options :



68634011373. 1
68634011374. 2
68634011375.3
68634011376. 4

Question Number : 45 Question Id : 6863402874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Line is an important element of art in which medium?

1. Film making

J

. Sculpture
3. Photography
4. Drawmg
Options :
68634011377. 1
68634011378. 2

68634011379. 3
68634011380. 4

Question Number : 45 Question Id : 6863402874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fep TTen 7 31 U@ Me@yi Ad B 2
1. et i
gfdiaat
B =
4. @i

| ]
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Options :

68634011377. 1
68634011378. 2
68634011379. 3
68634011380. 4

Question Number : 46 Question Id : 6863402875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which colour is obtained from the mineral "terra verte'?

1.Red

[

. Blue
3. Pink
4. Green

Options :

68634011381. 1
68634011382. 2
68634011383. 3
68634011384. 4

Question Number : 46 Question Id : 6863402875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 T Go] SRAC U Bl g 2

Options :

68634011381. 1
68634011382. 2
68634011383. 3
68634011384. 4

Question Number : 47 Question Id : 6863402876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An o1l painting technique where thick paint 1s applied so that the brushstrokes are visible-
1. Impasto
2. Stippling
3. Chiaroscuro

4. Intaglio

Options :
68634011385. 1



68634011386. 2
68634011387.3
68634011388. 4

Question Number : 47 Question Id : 6863402876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A UfT a@H 1P Mg 11 @ difds SIRIfud & R 9w €ld f6ErR ¢ |

1. SHRET
2. Reafem

3. SRIHERI
1 S

Options :

68634011385. 1
68634011386. 2
68634011387. 3
68634011388. 4

Question Number : 48 Question Id : 6863402877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Printmaking technique that works on the antipathy between grease and water is-

1. Etching

b-J

. Collography
3. Drypoint
4. Lithography

Options :

68634011389. 1
68634011390. 2
68634011391. 3
68634011392. 4

Question Number : 48 Question Id : 6863402877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fiedfdhT q@ie J U 3R Ui U gae & [quid & $d © |

1. g
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4. Rt

Options :

68634011389. 1
68634011390. 2
68634011391. 3
68634011392. 4

| ]
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Question Number : 49 Question Id : 6863402878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hue can be defined as-

1. Tendency of colour

J

. Colour Scheme
3. Colour brand
4. Pure colour with specific wavelength
Options :
68634011393. 1
68634011394. 2

68634011395.3
68634011396. 4

Question Number : 49 Question Id : 6863402878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U HER & Y T URYING B2 Jobd g |
1. T & ygft
2. Tl
3. 97518
4. fafRy & ded & a1

Options :



68634011393. 1
68634011394. 2
68634011395.3
68634011396. 4

Question Number : 50 Question Id : 6863402879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct chronological order of the Art Styles based on their time of occurance.

A. Mughal

B. Rajput

C. Pahadi

D. Patna-Kalam

Choose the correct answer from the options given below:

100 AL 6B

| ]

CBAD
3JAB.C.D
4.B.A.C.D

Options :

68634011397. 1
68634011398. 2
68634011399. 3
68634011400. 4

Question Number : 50 Question Id : 6863402879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl Uil DI PIATIHIHD HH DI Fol Y H Fa-d B @ |

A A
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C. Ugls!

D. e &l
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3ABaUED

4.B.A.C.D



Options :

68634011397. 1
68634011398. 2
68634011399. 3
68634011400. 4

Question Number : 51 Question Id : 6863402880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In mezzotint engraving, printmaker uses scrapings burnishing to work from-

1. Black to white

| )

. Thick to thin

[ 5]

. Opaque to transparent

4, White to black

Options :

68634011401. 1
68634011402. 2
68634011403. 3
68634011404. 4

Question Number : 51 Question Id : 6863402880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Helfde IapivH & BIUPR Wit 3R e STy ad & |
1. I Y e
IS ¥ ga!
. 3y ¥ Wy
4. e ¥ oTal

Options :

68634011401. 1
68634011402. 2
68634011403. 3
68634011404. 4

| B}
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Question Number : 52 Question Id : 6863402881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Traditionally. etching and engraving have been limited to a play of lines and tones. with the
etching plate used merely as carrier upon surface the image was drawn.

Reason R: Due to imaginative experimentation, the versatility of etching and its rich potential as a means of
expression are continuously being revealed.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 15 correct but R is not correct

4. A is not correct but R is correct

Options :

68634011405. 1
68634011406. 2
68634011407. 3
68634011408. 4

Question Number : 52 Question Id : 6863402881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. A 7o @ifeed R 98T ©
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Options :

68634011405. 1
68634011406. 2
68634011407. 3
68634011408. 4

Question Number : 53 Question Id : 6863402882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Water colours consist of pigments mainly mixed with

1. Linseed oil

[

. Gum arabic
3. Chalk
4, Wax

Options :

68634011409. 1
68634011410. 2
68634011411. 3
68634011412. 4

Question Number : 53 Question Id : 6863402882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qTer TR Yod I o0 9 Hiq aui i & -
1. fafs smud / sl o1 da

TTH 34 / agd D1 71g

3. 91 / @fsal

4. 99 /I

Options :

68634011409. 1
68634011410. 2
68634011411. 3
68634011412. 4

| ]

Question Number : 54 Question Id : 6863402883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mural paintings of Badami Cave is associated with-

1. Buddhizsm

[ ]

. Jainism
3. Shaivism
4, Vaishnavism

Options :
68634011413. 1



68634011414. 2
68634011415.3
68634011416. 4

Question Number : 54 Question Id : 6863402883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIETH! 751 & i fmor dafdd 8

1.9
o

=

X[
4. TG

Options :

68634011413. 1
68634011414. 2
68634011415. 3
68634011416. 4

| ]

L ¥ ]

Question Number : 55 Question Id : 6863402884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sittanvasal caves are associated with which religion?
L. Jamism
2. Buddhism

3. Hinduism

4. Islam

Options :

68634011417. 1
68634011418. 2
68634011419. 3
68634011420. 4

Question Number : 55 Question Id : 6863402884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011417. 1
68634011418. 2
68634011419. 3
68634011420. 4

Question Number : 56 Question Id : 6863402885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The etching solution: 1 part Nitric Acid and ten parts of water. use for etching process:

A. Correct

B. Not correct

C. May be

D. None of the above

Choose the correct answer from the options given below:
1. A only
2. B only
3. C only
4. D only
Options :
68634011421.1
68634011422. 2

68634011423. 3
68634011424. 4

Question Number : 56 Question Id : 6863402885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A el
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2. H9d B
3. B C
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Options :

68634011421. 1
68634011422.2
68634011423. 3
68634011424. 4

Question Number : 57 Question Id : 6863402886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Screen printing requires a wet paper for printing, so that it can absorb the water based inks.
Reason R: Screen printing requires a paper that is stable. since it maybe overprinted many times.
In the light of the above statements. choose the most apprepriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A 1s not correct but R 1s correct
Options :
68634011425. 1
68634011426. 2

68634011427. 3
68634011428. 4

Question Number : 57 Question Id : 6863402886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011425. 1
68634011426. 2
68634011427. 3
68634011428. 4

Question Number : 58 Question Id : 6863402887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Nandlal Bose, Dhaki. Haripura paster painted in which media-

A. Oil on canvas

B. Drawing on canvas
C. Tempera on paper
D. Wash on paper

Choose the most appropriate answer from the options given below:
1. A only
2. B only
3. C only

4. D only

Options :

68634011429. 1
68634011430. 2
68634011431. 3
68634011432. 4

Question Number : 58 Question Id : 6863402887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. ®dd B
3. HadC
4. ®dd D

Options :

68634011429. 1
68634011430. 2
68634011431. 3
68634011432. 4

Question Number : 59 Question Id : 6863402888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The frame is support over which fabric is stretched: together they make up one screen.

Reason R: The screen is an open-weave mesh stretched on a rectangular frame that may be made of wood or
metal and 1s square-section.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2

. Both A and R are correct but R 18 NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634011433. 1
68634011434. 2
68634011435.3
68634011436. 4

Question Number : 59 Question Id : 6863402888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634011433. 1
68634011434. 2
68634011435. 3
68634011436. 4

Question Number : 60 Question Id : 6863402889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Proportion in a work of Art refers to-
1. Sumilarity
2. Relative ratio
3. Repetition
4. Unity
Options :
68634011437. 1
68634011438. 2

68634011439. 3
68634011440. 4

Question Number : 60 Question Id : 6863402889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011437. 1
68634011438. 2
68634011439. 3
68634011440. 4

Question Number : 61 Question Id : 6863402890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s pallate knife?

1. A tool for mixing and spreading paint

[ ]

. A tool used in stone carving
3. A tool used to carve linoleum block

4, Butter knife

Options :

68634011441. 1
68634011442. 2
68634011443.3
68634011444. 4

Question Number : 61 Question Id : 6863402890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634011441. 1
68634011442. 2
68634011443.3
68634011444. 4

Question Number : 62 Question Id : 6863402891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of Intaglio printing process.

A Plate preparation
B. Inking the plate

C. Preparing the paper
D. Printing

Choose the correct answer from the options given below:
1. 4,B, €. D
22A.C.B.D
3ADCB
4.D,C,B.A

Options :

68634011445. 1
68634011446. 2
68634011447. 3
68634011448. 4

Question Number : 62 Question Id : 6863402891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634011445. 1
68634011446. 2
68634011447.3
68634011448. 4

Question Number : 63 Question Id : 6863402892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Dutch artist Jan Vermeer used 'Camera obscura' to assist his drawings

Statement IT: Camera obscura was not invented until 18 century.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I 1s incorrect but Statement II is correct

Options :

68634011449. 1
68634011450. 2
68634011451. 3
68634011452. 4

Question Number : 63 Question Id : 6863402892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634011449, 1

68634011450. 2
68634011451. 3



68634011452. 4

Question Number : 64 Question Id : 6863402893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: In relief printmaking. the image created 1s reversed form of the original drawing on the block.

Reason R: It is an image produced by a raised surface which is inked by a roller and then the impression is
transferred on paper by applying pressure on the entire block evenly.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634011453. 1
68634011454.2
68634011455. 3
68634011456. 4

Question Number : 64 Question Id : 6863402893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARG sua e E: AFua t iR REmor &
FUA A - 3HR dde [Ufea &, sl W 38e (Widha &l 3ecl (@i aa1d © |
FRO R - =94 35 Tde § OO0 g 5T 191 &, 598 Aok o 38 HET W 56 o9l Al & doddd

Tl IR UUR IWes FAT gard e e e Jmar ¢
SR HUAT & Helleh A HA ard GT 77v fawped] # § Fad I9gad IR A |

1.2 A 3k R @& & 3k R, A & w8 e &
2" A 3R R @& § 3R R, A &1 &€ ogr=an a9 ©
3. A @& afsa R e ®

4. A Teid ofteT R @81 &

J

Options :

68634011453. 1
68634011454. 2
68634011455. 3
68634011456. 4



Question Number : 65 Question Id : 6863402894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Through Reduction Block method in printmaking unlimited edition of prints can be taken.

Reason R: In Reduction Block method the block is cut every time after taking print for one colour.

In the light of the above statements. choose the most apprepriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R i3 correct

Options :

68634011457. 1
68634011458. 2
68634011459. 3
68634011460. 4

Question Number : 65 Question Id : 6863402894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATy v v E: AsuT iR R EROT E |
FUT A - colrp o fafy & yfafEa file B o1 goa €
FROT R . eoneh oo AT & eaffd & v W1 &1 e o & alg &% g 38 &el Jhm & |
SFd HUAI & Ufdd # A9 Bw o Gehedl A § §Ed 39gEd 3R g9 |
1.2 A 3R R @8 € 3R R, A & & e &

EFT AR R T E R R A & w0 crEm a9 §

[ ]

3.A 9% afd R 7o &
4. A 7T oftT R 991 &

Options :

68634011457. 1
68634011458. 2
68634011459. 3
68634011460. 4

Question Number : 66 Question Id : 6863402895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST IT
Balance 1. |Arrangements of formal elements|

Chiaroscuro II. | Outline of a figure

Composition | III. | Arrangement of parts
Contour IV | Graduation of light and shadow

REE

Choose the correct answer from the options given below:

1. A-TII. B-IV. C-II, D-I

2

AL B-IIL C-IV. D-I
3. A-IIL. B-IV. C-I. D-II
4. A-IV. B-11. C-I1I, D-I

Options :

68634011461. 1
68634011462. 2
68634011463. 3
68634011464. 4

Question Number : 66 Question Id : 6863402895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gt 11 4 faH Sy
a1 T I
A [GdeH 1. |30 dedl bl Haw]
B. [eRIGER 11 [31pid @1 sl
C. [gaeH 111 [4F1 &t sga=s
D. [FU-3ET IV. [@11 U1 &1 HH
frgfafad fawel & 3 U8l SR &1 994 Sifg -

1. A-IIIL. B-IV. C-II, D-I

-2

A-TILL B-11L C-IV, D-1
3. A-IIT, B-TIV. C-1. D-II
4. A-IV. B-1I. C-III, D-I

Options :

68634011461. 1
68634011462. 2
68634011463. 3
68634011464. 4



Question Number : 67 Question Id : 6863402896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: KG Subramanyan 1s a well known painter famous for his paintings on acrylic sheets.

Reason R: KG Subramanyan is known for his terracotta tiled murals.

In the light of the above statements. choose the most apprepriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R i3 correct

Options :

68634011465. 1
68634011466. 2
68634011467. 3
68634011468. 4

Question Number : 67 Question Id : 6863402896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR FUT T W A U ¢ AN R FROT T |
FUT A - &, S gEeoaH Us ufhg ReeR € o whfas ofie & afta & fow ufde ¥
mR;ﬁ_ﬁ.wﬁmﬁamﬁﬁmﬁaﬁ%f _
SWIFd HUAT & & = fqw aw KAdedl # § FER IugFd IR I |
1.2=r A 3t R @191 € 31k R, A & @) caren &
.2HT A 3R R @& € 3R R, A &7 981 @ar= a9 ©
3.A §E Af5d R oo ®

4. A 91T WfhT R 99T &

[ ]

Options :

68634011465. 1
68634011466. 2
68634011467. 3
68634011468. 4

Question Number : 68 Question Id : 6863402897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oxides of chrome and Green earth pigments to be used for colour pastel.

A. Brown
B. Blues
C. Reds
D. Greens

Choose the correct answer from the options given below:
1. A only
2.D only
3. B only
4. C only

Options :

68634011469. 1
68634011470. 2
68634011471. 3
68634011472. 4

Question Number : 68 Question Id : 6863402897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FoR Ued & o1 H1ET iR Y e S A &8

A
B. Aldl

C. ¢l

D. gl
Heafeiaa [d@ey & el 3eR & 999 & |
1. Fdd A

2. Had D

3. Had B

4. %dd C

Options :

68634011469. 1
68634011470. 2
68634011471. 3
68634011472. 4

Question Number : 69 Question Id : 6863402898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: The pigment is o1l paints needs to be properly grounded.
Reason R: This way each particle is coated in o1l and is plastic and viscous enough to get the desired effects.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R i3 correct

Options :

68634011473. 1
68634011474. 2
68634011475.3
68634011476. 4

Question Number : 69 Question Id : 6863402898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG FuE R aw E A FUT AR R FROT R |
FU A - ToEie & 3Ta o B 3770 § A aTd ©
FROT R . 50 ol Ucds &0 od & ofud giaT & 3R aifag wema um &a & fore oo Rufa confes

BT & |
SUFd HUAI & Ufdd A A BE o Gehed] A § wew I9gFd 3R g4 |

1.2 A 3 R @@ € 3k R, A 7 @ oo &
2.2 A 3R R @@ & 3k R, A & &8 e a8 ¥
3.A ¥8 afsa R e &

4. A TToIT Wfe R @ ¥

Options :

68634011473. 1
68634011474. 2
68634011475. 3
68634011476. 4

Question Number : 70 Question Id : 6863402899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the water soluble painting mediums.

A. Gouache

B. Acrylic paints
C. Oil paints

D. Water colours
E. Inks

Choose the correct answer from the options given below:

1.D.EAC

| ]

.A.B.D.E
3.B,C.ID: E
4. A B.C.D

Options :

68634011477. 1
68634011478. 2
68634011479. 3
68634011480. 4

Question Number : 70 Question Id : 6863402899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O H1eaw 7 o] § go-eiiel dd &1 9gd &y

AN

B. Ui dal / T
C. dd &R /1
D. ofd T
E.S®
HeaTeiag Aded & HEI 3T’ &l 9494 @i |
1.D.E.A. C
2.A.B.D.E
FBAD;E
4 A B.C.D

Options :

68634011477. 1
68634011478. 2
68634011479. 3
68634011480. 4



Question Number : 71 Question Id : 6863402900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: For a woodcut. one drawing is transferred to a wood block. The blank areas are gouged away.
leaving the drawing in relief.

Reason R: In an etching, the grooves on the plate are made chemically by acid which corrodes and eats into
the metal.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

J

. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634011481. 1
68634011482. 2
68634011483. 3
68634011484. 4

Question Number : 71 Question Id : 6863402900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ao g saT er o E: AFua t AR RFmOT ¥

FAT A - e & Tor, {T@ichd ol colieh W TATAANT fhaT AAT &, Wiell A 6 T@HT § Dich{ Bel
ﬁmm?ﬁi@ﬁmﬂmﬁﬁm%l :

FROT R - of¥or &, wie W @i g uRkhar @ 396 GRT Tl @ &9 haihs gt o § |

SR HUAT & Heller A A" QU 710 Ghedl 7 § FEX I9gFT 3K I |

1.2 A 3R R &8 € 3k R, A & w8 e §
2" A 3R R @& § 3R R, A &1 &€ ogr=an a9 ©
3. A @& afsa R e ®

4. A Teid ofteT R @81 &

J

Options :

68634011481. 1
68634011482. 2
68634011483.3
68634011484. 4

Question Number : 72 Question Id : 6863402901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Natural pigment 'Cinnabar’ is used to obtain the colour-

1. Violet

| ]

. Yellow
3. Vermilion

4, Black

Options :

68634011485. 1
68634011486. 2
68634011487.3
68634011488. 4

Question Number : 72 Question Id : 6863402901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i@ T TR 1 W $37 R T §9d1 © -
1. &
gia
SRR

4. Ppldd

| ]

Lad

Options :

68634011485. 1
68634011486. 2
68634011487.3
68634011488. 4

Question Number : 73 Question Id : 6863402902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 'Kalighat' inspired paitings of Jamini Roy were painted in the medium of-

1. Water colours

| ]

. O1l painting

L]

. Tempera

4, Charcoal

Options :
68634011489. 1



68634011490. 2
68634011491. 3
68634011492. 4

Question Number : 73 Question Id : 6863402902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PHlcrdre d YHIfad gie Sia-! 4 A aaear o AegH ®1 warT faar

1. oTel T
2. dd =
3. T
) y

Options :

68634011489. 1

68634011490. 2

68634011491. 3
68634011492. 4

Question Number : 74 Question Id : 6863402903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The advantage of prints is that the artist reproduce the same image over and over again.

Statement IT: Without stencils. screen print is not possible.

In the light of the above statements. choose the correcr answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement I are false

3. Statement I is true but Statement II 1s false

4. Statement I is false but Statement II is tiue

Options :

68634011493. 1
68634011494. 2
68634011495. 3
68634011496. 4



Question Number : 74 Question Id : 6863402903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 g Fua fgw aw
Fua | - e & oH I% € & deror v € ofd & @) g gF: 0 & G5 © |
= || . fom wfta, wh= file aoma a8 ¥
S HUST & Uida 3§ A" w7 fgwedl # & w9 3UgEd IR 4 |
1.3 ®u=r | @ &u= 1l |87 €

2.8+ &Y | g ®ua |l Tea &

3. Fu | TR e &y ll reg &
4, T | 77T AR FUT T8 %
Options :
68634011493. 1
68634011494, 2

68634011495.3
68634011496. 4

Question Number : 75 Question Id : 6863402904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Linocut effects similar to serigraphy.

Statement IT: The ancient Egyptians, Indians, and Arabs used wood block relief printing methods to stamp or
print designs on to textiles.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

J

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement I is incorrect

4. Statement I 1s incorrect but Statement IT is correct

Options :

68634011497. 1
68634011498. 2
68634011499. 3
68634011500. 4

Question Number : 75 Question Id : 6863402904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
= 1 Ty Tw oaw

FUT | - O & Rers Rpa F g ud@ 2T & |

FUa || - U @ & gera, ARaE 3R 3R S @@ & s 3R oféa At & sedene dust |
fSotrs a1 e &l & forw Thar am |

IR HUAI & Ufdd A @1 U v @red! A § g IugEa IR G4 |
L &us | @ wu= Il 991 €

2.2+ ®uT |9 &g |l 7ea &

3. Fu | TEr ofcha &y llmeg &
4. wUA | AT R wUT | T

Options :

68634011497. 1
68634011498. 2
68634011499. 3
68634011500. 4

Question Number : 76 Question Id : 6863402905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The rubber blade set m a handle with this sereen ink pulled across the mesh. known as

1. Squeeze

| )

. Brush
3. Roller
4. Sponge

Options :

68634011501. 1
68634011502. 2
68634011503. 3
68634011504. 4

Question Number : 76 Question Id : 6863402905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR IS T UF 650 1 Ue $d o. orgd uadt w4 @l fu S @i ord 8. SR & s u § s onar g
1. feposil

S

TR

4. T

| ]

5]

Options :

68634011501. 1
68634011502. 2
68634011503. 3
68634011504. 4

Question Number : 77 Question Id : 6863402906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Palette knife for handling the pigments and for painting. also known as

1. Hog Hair Brush

| ]

. Spoon
3. Knife
4. Spatulas

Options :

68634011505. 1
68634011506. 2
68634011507. 3
68634011508. 4

Question Number : 77 Question Id : 6863402906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I DI TR SR Uit & ferg Ueie 91ep &1 Fl il §

1. SHTCH 3R & &1l 1 57>

2. JHA
g
4. 91F

Options :



68634011505. 1
68634011506. 2
68634011507. 3
68634011508. 4

Question Number : 78 Question Id : 6863402907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lithographic images were prepared on block of

1. Wood
2. Limestone
3. Screen
4. Stone

Options :

68634011509. 1

68634011510. 2

68634011511. 3
68634011512. 4

Question Number : 78 Question Id : 6863402907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRre geor o 1 v &1 R AOR R 6 |
B
fere R

| S

[ 5]

4. Y&

Options :

68634011509. 1
68634011510. 2
68634011511. 3
68634011512. 4

Question Number : 79 Question Id : 6863402908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The darkness and lightness of colours is:

1. Shade

[

. Tint
3. Tone
4. Space
Options :
68634011513. 1
68634011514. 2

68634011515.3
68634011516. 4

Question Number : 79 Question Id : 6863402908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T8 BT 3R UHI T &I LT g |

1.8 ™l

EUG!

| ]

3.dm
4. 84

Options :

68634011513. 1
68634011514. 2
68634011515. 3
68634011516. 4

Question Number : 80 Question Id : 6863402909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTII
A |5elf portrait, NGMA I JAmrita Shergil
B. |A tired women and men, NGMA] IT. |Paramjit Singh
C. |Sweet home - NGMA III. JArpita Singh
D. [Pleasure of nature - NGMA IV |Haren Das

Choose the correct answer from the options given below:

1. A-II. B-III, C-IV, D-I
2. A-I. B-III, C-IV. D-II
3. A-II. B-IV, C-111, D-1
4. A-1. B-IV, C-III, D-II

Options :

68634011517. 1

68634011518. 2

68634011519.3
68634011520. 4

Question Number : 80 Question Id : 6863402909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI 1 1 g 11 9 e a3
T I g I
A lsEfE EEime 1 |3 IR
B. [yl g3 Hlgal R SHTcH] U491 UH T 11 [RHsid [ig
C. [ARIT R, AT 11 [31idar g
D. [Adid &1 <. TSILTHT IV [E3T e
FafaREd faeedl o 9 |8t IW &1 997 S -

1. A-IL. B-IIIL, C-IV, D-1
2.A-L B-II1. C-IV., D-II
3. AL B-TV. C-11L. D-1
4. A-1. B-IV, C-I11, D-II

Options :

68634011517. 1

68634011518. 2

68634011519. 3
68634011520. 4



Question Number : 81 Question Id : 6863402910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chevreul's theories underpinned, 'The painter's use of colour in the late 19th Century.

A, Renaissance
B. Impressionist
C. Mannerism
D. Baroque

Choose the correct answer from the options given below:
1. B only
2. A only
3. C only
4. D only
Options :
68634011521. 1
68634011522. 2

68634011523.3
68634011524. 4

Question Number : 81 Question Id : 6863402910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1991 Gl & 30 H TSR gRI 1 &1 ST Hd gU Wawd & Rgr=dl ol {0 fevar mar |
A. TSR]

B. UHIGdIg
c. Rfaarg
D. &

AFTeia [aded & FET TR ol Ia $HY |
1. &ad B
2. Bdd A
3. %4 C
4. ®ddD

Options :

68634011521. 1
68634011522. 2
68634011523. 3
68634011524. 4



Question Number : 82 Question Id : 6863402911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wood engraving equipment:
A. Copper plate
B. Zinc plate

C. Steneil
D. Graver

Choose the most appropriate answer from the options given below:

1. D only
2. Aonly
3.B only
4. C only

Options :

68634011525. 1

68634011526. 2

68634011527. 3
68634011528. 4

Question Number : 82 Question Id : 6863402911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B S Fb U FTPRT§ |

A PR T
B. [vi® wie
C. X hyd
D. Bldl

HeaTeiiag Aded & TR 3TR & 949+ 31 |
1.%dd D
2. Bdd A
3. ®ad B
4. B4 C

Options :

68634011525. 1
68634011526. 2
68634011527. 3



68634011528. 4

Question Number : 83 Question Id : 6863402912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Karbala, Acrvlic I. | Manu Parekh
B. | After the cyclone, Acrylic I1. | Satish Gujral
C. | Landscape II (Banaras), Acrvlicl III | MLE. Hussain
D. | Playmates, Acrvlic IV. | Paritosh Sen

Choose the correct answer from the options given below:

1. A-I. B-1IL. C-1I1. D-IV

-2

CA-IV, B-II1, C-I1, D-I
3. A-IIT, B-TIV. C-1. D-II
4. A-IIL B-IV. C-II, D-I

Options :

68634011529. 1
68634011530. 2
68634011531.3
68634011532. 4

Question Number : 83 Question Id : 6863402912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 61 g 1 3 HaE S

A1 T
A [, Thia® I 79"
B. [dspard & §G, Thicid 1. [ o
C_|4.==7 = - fgdlT (§9RE), Uhiad| 111 [TH. Uh. §9
D. [§<I0H &1 &%, Ushia® IV, [gRarE o=
frafeiEd famed! 7 3 A8 SR &1 997 Y -

1. A-I. B-II. C-III. D-IV

| ]

CA-TV. B-IILL C-I1, D-I
3. AT B-IV. C-1. D-II
4. A-IIL, B-IV. C-II, D-I

Options :
68634011529. 1



68634011530. 2
68634011531.3
68634011532. 4

Question Number : 84 Question Id : 6863402913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Gamboge is a gum resin used to extract yellow pigment.

Statement IT: Yellow pigment was made using urine of cows fed with mango leaves.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I is incorrect

4, Statement I is incorrect but Statement I is correct

Options :

68634011533. 1
68634011534. 2
68634011535. 3
68634011536. 4

Question Number : 84 Question Id : 6863402913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A g BY= RE W
wua | - dae v WoE/saie ¥ S o dier 1 B uig R & orar S €
FUA Il . I F A & o Femaw wrm steg F der 1 gamr S o
SR HUAT & Uidd # = Gy 7w Geul #§ § FER 39T IR I |
L= ®u | @ &9 Il W9 ©

2.9 &9 |9 &9 |l 7ea &

L]

. FU | TE ST wueT l iea ©
4. U | 75T AfhT FU= |1 T8 &

Options :

68634011533. 1
68634011534. 2
68634011535. 3
68634011536. 4



Question Number : 85 Question Id : 6863402914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amar Nath Sehgal's work Ganesha medium is-
A 01l
B. Silkscreen
C. Acrylic
D. Water

Choose the correct answer from the options given below:
1. A only
2.B only
3.D only
4. C only

Options :

68634011537. 1
68634011538. 2
68634011539. 3
68634011540. 4

Question Number : 85 Question Id : 6863402914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIRATY FTTd B MUY frg Mg 5 R |

A dd
B. e iap—

C. Ul

D. gl
HeaTeiiag Aded & TR 3TR & 949+ 31 |
1.%dd A

2. ®dd B

3.%dd D

4. %dd C

Options :

68634011537. 1
68634011538. 2
68634011539. 3



68634011540. 4

Question Number : 86 Question Id : 6863402915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Jackson Pollock | 1. |Brush and Ink
Pablo Picasso II. |Enamel on Canvas
Zainul Abedin | III |Etching
Anupam Sud IV. | Collage

REE

Choose the correct answer from the options given below:

1. A-I. B-1IL. C-1I1. D-IV

-2

CA-IV. B-1, C-11. D-III
3. A-IL B-IV. C-1. D-III
4. A-1. B-IV, C-II, D-III

Options :

68634011541. 1
68634011542. 2
68634011543.3
68634011544. 4

Question Number : 86 Question Id : 6863402915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 61 g 1 3 HaE S
T 1 T 11

tEsehisical BN EEERER
UTaal fUsrel | 1L [F-ard )R TH
ST 3MTaie| 1L BT

AU e |1V [l
fafiad foeedl § 9 U5l SR &1 999 3 -

1. A-I. B-II. C-III. D-IV

olo[w[>

| ]

CA-IV. B-1, C-11. D-III
3. A-IL B-IV. C-I. D-III
4. A-L. B-IV, C-11, D-III

Options :
68634011541. 1



68634011542. 2
68634011543.3
68634011544. 4

Question Number : 87 Question Id : 6863402916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s Relief Printing?

A. Relief printing 1s the oldest form of printmaking.

B. The ink is applied to the raised surface which gets printed.
C. The arcas removed will not get printed.

D. Wood cut and linocut are the form of relief printing.

E. Mezzotimnt 1s a form of Relief Printing.

Choose the correct answer from the options given below:

1.B,C.D. E only

| )

.A.C.D.E only
3.A.B.C.E only

4. A.B.C.D only

Options :

68634011545. 1
68634011546. 2
68634011547. 3
68634011548. 4

Question Number : 87 Question Id : 6863402916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SUR GEUT |18 2

A. IYR ggUT [Henfd & 98 REI3U ¢ |

B. Wl &1 I Tde WX a1 oiidl ¢ ol e gl oai g |
C. BCIU T &3 fgd el 811 |

D. G ®e IR foriime Raw fiffn a1 g |

E. Hulfée R fiffnasta su g |

HeTeiad [A@ed & WEL TR & 949 DL |
1. ®ddB.C.D.E

. PAd A, C.D.E

3. ®dd A, B.C.E

4.dd A, B.C,D

| )

Options :

68634011545. 1
68634011546. 2
68634011547. 3
68634011548. 4

Question Number : 88 Question Id : 6863402917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is a Picture Plane?

A. The point in a picture where all orthogonals meet.

B. The flat surface on which a picture is painted.

C. A system of representing 3 dimensional on 2 dimensional surface.
D. An architectural drawing presenting a building.

E. Top of the sculpture.

Choose the most appropriate answer from the options given below:

1. D only

[ ]

. C only
3.B only
4. E only

Options :

68634011549. 1
68634011550. 2
68634011551. 3
68634011552. 4



Question Number : 88 Question Id : 6863402917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[REIRIGIEC

A. T TR H g8 fog ot i sifdfma fied & |
B. JHdd 9dg P R A sw el g |
C. &1 3! Hde R dF HEHE wiaHiYd - &1 U Jure! |
D. U% SHRA U & Il U aRgfed o |
E. TfdTRIe BT JUR 4T |
Teafoi@a TA@eg & @ 3T/ & 99 31 |
1. Hda D
2.%dd C
3. $dd B

4. BAAE

Options :

68634011549. 1
68634011550. 2
68634011551. 3
68634011552. 4

Question Number : 89 Question Id : 6863402918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select from the given names Indian and Western artists known for printmaking too-

A. Albrecht Durer
B. Chittoprasad

C. Amrita Shergil
D. Rembrandt

E. Raja Ravi Verma

Choose the correct answer from the options given below:

1.8, e ER

[ ]

A B.C.D
3.3JA.B.D.E
4. A.C.D.E
Options :

68634011553. 1
68634011554. 2



68634011555.3
68634011556. 4

Question Number : 89 Question Id : 6863402918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR 3R gL fUe T SaeR & =149 94

A. 3TEC SIR
B. feRivETg
C. 3l IR
D. IEE

E. 370l 33 a4

HaTeiag Adey & FE 3TR & 99 31 |
1B 1R
20ABED
3AB.D.E
4. A C.D.E

Options :

68634011553. 1
68634011554. 2
68634011555. 3
68634011556. 4

Question Number : 90 Question Id : 6863402919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct group's of the Artists and Artworks.

A, Frida Kahlo - The Broken Column

B. Edward Manet - The Making of Christ
C. Gustav Courbet - Guernica

D. Titian - Olympia

Choose the correct answer from the options given below:
1.Aand B
2.Aand D
3.Band C

4 CandD

Options :
68634011557. 1



68634011558. 2
68634011559. 3
68634011560. 4

Question Number : 90 Question Id : 6863402919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FABR G 39 Bl P & ol YU &1 U5 e |

A WIS Pl - <l g3l W
B. GSTS HIe - HHE BT IUEH
C. TG DIac - [T
D. fedioA - afafsmn
Tt TAeeg & 56 3T/ & 99 &1 |
1. Aand B
2. AandD
3. All of above

4. None of the above

Options :

68634011557. 1
68634011558. 2
68634011559. 3
68634011560. 4

Question Number : 91 Question Id : 6863402920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the matching groups
A Intaglio - Nitric Acid
B. Planographic Printing - Litho Stone
C. Serigraphy - Stencil
D. Collagraphy - Negative
Choose the correct answer from the options given below:
l.LAand C
2A BandC
3.Aand C
4.BandD

Options :
68634011561. 1



68634011562. 2
68634011563. 3
68634011564. 4

Question Number : 91 Question Id : 6863402920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el THE B =98 B
A. H-d-ddg - - Eiaﬁ URTS

B. YHAd Hdg fHie/ggul - forl w&iR
c. Fed wpiH - ¥
D. e - THRIHD

He=Teag Adey & FE 3eR & 99 31 |

l.Aand C

| o]

A BandC
3. AandC

4. All of the above

Options :

68634011561. 1
68634011562. 2
68634011563. 3
68634011564. 4

Question Number : 92 Question Id : 6863402921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct sequence used in Lithography printmaking process-

A. Image transfer to the stone
B. Apply gum etch

C. Inking

D. Remove the gum

E. Remove the grease

Choose the correct answer from the options given below:

1.A B E D

| )

.B.D.A,.C
3.B.C.DE
4. A.B.D.E

Options :



68634011565. 1
68634011566. 2
68634011567. 3
68634011568. 4

Question Number : 92 Question Id : 6863402921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feryramet Ui ichdn 1 9el e/ epa o o |

A Bid DI JeR H RFERT HAT
B. TTH @A
C. 5 Il
D. T geHI
E. U geHI

Fe=Tef@g Adey & T8 TR & 999 31 |
1.A.B.,E.D
2B, DA C
FIB.C.D.E
4 A.B.D.E

Options :

68634011565. 1
68634011566. 2
68634011567. 3
68634011568. 4

Question Number : 93 Question Id : 6863402922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Secco fresco | I | Dry technique of wall painting
Cartoon IT. | First layer of plastering

1 Full scale drawing to be

Trullisatio 2
% transferred on the wall

of o [w[>

Buon fresco | IV, | Wet technique of wall painting

Choose the correct answer from the options given below:

1. A-1. B-1I. C-111, D-IV

[

CA-IV. B-IILL C-I1, D-I

L]

CA-L B-IIL. C-II, D-IV
4. A-IL. B-IIL C-1. D-IV

Options :

68634011569. 1
68634011570. 2
68634011571. 3
68634011572. 4

Question Number : 93 Question Id : 6863402922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 1 61 e 11 9 (aH i
Tt 1 T I
A [fium | 1 [gd 9ag W IR E
B [ 11 [Ugail IRd WX
C. [cferanfegr | 11 fEaid fovar 7T gul TEis
D [ hesl |1V [fTel Oag W iHi R

fafaiad o § 3 I5 STR &1 999 39 -

1. A-I. B-1I. C-II1, D-IV

-2

CA-IV, B-II1, C-I1, D-I
3. A-L B-II1, C-1T, D-IV
4. A-I1. B-1IL, C-1. D-IV

Options :

68634011569. 1
68634011570. 2
68634011571. 3
68634011572. 4



Question Number : 94 Question Id : 6863402923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Handmade Paper | 1. |[Etching
Canvas II. [Fresco
7 inc/Copper plate] II1. [O1l painting
Lime Plaster IV, |Water colours

REE

Choose the correct answer from the options given below:

1. A-TIIL. B-IV. C-1. D-II

2

CA-IV. B-IIIL C-1L D-II
3. A-IV, B-1. C-II1, D-II
4. A-I. B-IV, C-1I1, D-IT

Options :

68634011573. 1
68634011574. 2
68634011575. 3
68634011576. 4

Question Number : 94 Question Id : 6863402923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gt 11 4 faH Sy

Tt 1 T 11
B4 HiHd ®ATE| 1 [Bi
gy 1L [l
S / B wic | L. [qd faam
[T WX IV. [5d 3T

fafaiad fosei § 3 I8l STR ST 997 33 -

1. A-IIL. B-IV. C-1, D-II

ola[w[w

-2

ATV, B-IIL. C-1, D-II
3. A-IV. B-1, C-III. D-II
4. A-1. B-IV, C-III, D-II

Options :

68634011573. 1

68634011574. 2
68634011575. 3



68634011576. 4

Question Number : 95 Question Id : 6863402924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Oil Pastels and dry Pastels are pigments in a stick form weakly bound with solution of gum.
Statement IT: Oil-pastels are mixture of pigment. waxes and animal fat/oils.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement I is incorrect

4, Statement I is incorrect but Statement I is correct

Options :

68634011577. 1
68634011578. 2
68634011579. 3
68634011580. 4

Question Number : 95 Question Id : 6863402924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A g1 U fgw aw
FUA | - Jo1 OFcer 3R g@r OFed v of & w0 # goie 93 € o g & Peeik g § dur gar €
U4 || - O OFed W1, AF g uy) T&f & Faer
SR A & 0T # A9 Ry 7w Rwedt d ¥ #Ew 39gEd IR I |
1.2 U= | g wua Il & &
2.0 U | g &uw lloreig &
3.%ua | 93 aifh ®ua lloed
4. FUw | o Wt Hwu 11 FE ¥
Options :
68634011577. 1
68634011578. 2

68634011579. 3
68634011580. 4



Question Number : 96 Question Id : 6863402925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Soft hair brushes work best with a more liquid colour mix.
Statement II: Soft hair brushes cannot be used with oil paints.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1is false
4. Statement I 1s false but Statement II 1s true
Options :
68634011581. 1
68634011582.2

68634011583. 3
68634011584. 4

Question Number : 96 Question Id : 6863402925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 1 Ty Tw oaw

FU | - A TR U AAF A W F WY 7O B B & |

FUA || . AAEH TR I I SEAAE o T F WA A AT S Fhell ¥ |
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4. ®UF | TET oifhT ®UT | TET &

Options :

68634011581. 1
68634011582. 2
68634011583. 3
68634011584. 4

Question Number : 97 Question Id : 6863402926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Intaglio. printing which derives the Italian word 'Intaglione’, meaning to engrave or cut.

Statement IT: In Aquatint a plate is covered in a uniform layer of resin powder-usually resin or bitumen. and
heated from beneath.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I 15 correct but Statement I 1s incorrect
4. Statement I is incorrect but Statement II is correct

Options :

68634011585. 1

68634011586. 2

68634011587.3
68634011588. 4

Question Number : 97 Question Id : 6863402926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A 81 sy e aw §:
wua | - sciel, sefema omur & o 71T oeg ©, Selverdl &l Adeld PGl fialel=Al a1 &ea & |
FUa || - Tgaifes # e & A uEs 1 AT & §A W § @hd © ] A F 9 g ©
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1. 29 &uer | 9 wua || 88 €
2. 2 wu 1T Fu | e &
3. %Y | FE e wua 1 Ted ©
4. ®u= | 77ea dfha wu 188 ©

Options :

68634011585. 1
68634011586. 2
68634011587. 3
68634011588. 4

Question Number : 98 Question Id : 6863402927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Fixatives not required for soft pastel paintings.
Reason R: The softness of the pastels varies according to the amount of gluten contained.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634011589. 1
68634011590. 2
68634011591. 3
68634011592. 4

Question Number : 98 Question Id : 6863402927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & ®ua fgw e E
FUA | - FAogH OFcd Ao # froafeg & swg S8 o b
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Options :

68634011589. 1
68634011590. 2
68634011591. 3
68634011592. 4

Question Number : 99 Question Id : 6863402928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: To be really effective in the use of inks in colour printmaking, we must develop a closeness with
the world of colours: we have to understand the behaviour of color on a molecular level.

Reason R: Without understanding the behaviour of colour on a moelecular level one cannot use inks in colour:
as the inks will not work at all.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 15 correct but R is not correct
4. A 1s not correct but R is correct

Options :

68634011593. 1

68634011594. 2

68634011595. 3
68634011596. 4

Question Number : 99 Question Id : 6863402928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011593. 1
68634011594. 2
68634011595. 3
68634011596. 4

Question Number : 100 Question Id : 6863402929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Some Paints, for instance. are translucent - you can see through them.

A. Encaustic

B. Mural

C. Water colour
D. 0il

Choose the most appropriate answer from the options given below:

1. A Only

| )

. B Only
3. C Only
4. D Only

Options :

68634011597. 1
68634011598. 2
68634011599. 3
68634011600. 4

Question Number : 100 Question Id : 6863402929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A THISIES
B. T

C. ol 3T
D.dd
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1.dd A
2. ®dd B
3. 64 C
4. ®dd D

Options :

68634011597. 1
68634011598. 2
68634011599. 3
68634011600. 4



